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Glossary for Mark Schemes

GCSE examinations are marked in such a way as to award positive achievement wherever possible. Thus,
for GCSE Mathematics papers, marks are awarded under various categories.

M Method marks are awarded for a correct method which could lead
to a correct answer.

A Accuracy marks are awarded when following on from a correct
method. It is not necessary to always see the method. This can be
implied.

B Marks awarded independent of method.

Q Marks awarded for quality of written communication. (QWC)

M Dep A method mark dependent on a previous method mark being
awarded.

BDep A mark that can only be awarded if a previous independent mark
has been awarded.

ft Follow through marks. Marks awarded following a mistake in an
earlier step.

SC Special case. Marks awarded within the scheme for a common
misinterpretation which has some mathematical worth.

oe Or equivalent. Accept answers that are equivalent.

eg, accept 0.5 as well as
2

1
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M1 Higher Tier

Section A

Q Answer Mark Comments

1(a) 24 ÷ 5 (= 4.8) M1

(£) 19.20, (£) 4.80 A1 Do not allow 19.2 or 4.8

1(b)

8

5 B1 oe fraction, decimal or percentage

Ignore incorrect simplification from a

correct answer, eg
8

5 =
3

2
or

8

5 = 0.58

1(c) 2.50 B1 Condone 2.5

2 80 × 0.55 (= 44) M1 oe 80 ÷ 100 × 55 (= 44)

Their 44 + 70 (= 114) M1

Their 114 ÷ 1.5 M1 oe Their 114 ÷ 150 × 100

76 A1 SC3 79

Alt 2 80 × 0.55 (= 44) M1 oe 80 ÷ 100 × 55 (= 44)

Their 44 ÷ 1.5 (= 29
3

1
) or

70 ÷ 1.5 (= 46
3

2
)

M1 oe Their 44 ÷ 150 × 100 or

70 ÷ 150 × 100

Their 29
3

1 + their 46
3

2 M1

76 A1 SC3 79

3(a) Shades B apart from intersection
with A

B1

3(b) A’  B’ or (A U B)’ B1

3(c) 3 letters in P only, 3 letters in
intersection, 4 letters in Q only

B2 2, 4, 3, letters, 1 outside

1, 5, 2, letters, 2 outside

0, 6, 1, letters, 3 outside

B1 6 letters in P or 7 letters in Q

Numbers in correct sections

All correct, but other letters used
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*4

3

1
+

5

2
(=

15

11
) or

15

4 M1

1 – their
15

11
(=

15

4
) and

44 ÷ their 4 or 44 ×1.5

M1 Sight of 11

Their 11 may then be multiplied

66 A1

Addition, subtraction from 1 and
division of 44 by their numerator or
multiplication of 44 by 1.5

Sight of
15

11
(or

15

5
and

15

6
),

15

4
and

11, with an answer given, in
organised working

Q1 QWC - Strand (iii) - To achieve a correct
solution a clear and organised approach
must be evident

Alt *4 

3.0 + 0.4 (=


37.0 ) or



62.0

M1 

3.33 % + 40% (=


3.73 %) or



6.26 %

1 – their


37.0 and

44 ÷ their


62.0 (× 0.4)

or

Sight of 165

M1
100 – their



3.73 and

44 ÷ their


6.26 (× 40)

or

Sight of 1.65

66 A1

Must see addition, subtraction from
1 (or 100) and division of 44 by their
decimal (or percentage)

Sight of


37.0 ,


62.0 and 165 with an
integer answer

Sight of


3.73 ,


6.26 and 1(.)65 with
an integer answer

Q1 QWC - Strand (iii) - To achieve a correct
solution a clear and organised approach
must be evident

5 18x + 15y = 105 or 24x + 20y = 140

40x  15y = 40 24x  9y = 24

M1 oe Equates coefficients

Allow one arithmetic error

58x = 145 or 29y = 116 M1 Eliminates one unknown

Allow one arithmetic error

x = 2.5 or y = 4 A1 Solves for one unknown

y = 4 or x = 2.5 A1 Solves for other unknown

Q Answer Mark Comments
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6(a) 0, 3 B1

6(b) Starts y = 2x B1 Not y = 2x + 3

(5 × their 2) + c = 4 M1 c = 4 – (5 × their 2)

c = 6

y = 2x  6 A1 SC2 2x  6

7(a) 0.1, 0.3, 0.7, 0.3 B1 oe decimal, fraction or percentage

7(b) 0.9 × 0.7 (= 0.63) or

0.9 × their 0.3 (= 0.27) or

Their 0.7 × their 0.1 (= 0.07)

M1 their 0.1 × their 0.3

Their 0.63 + their 0.27 + their 0.07 M1dep 1  their 0.03

0.97 A1ft oe ft their values on tree diagram

7(c) 2 (+) 4 (+) 8 (+) 16 (+) 32 M1 2
1

(+) 2
2

(+) 2
3

(+) 2
4

(+) 2
5

62 A1

8 (2n + 1)
2 M1

4n2 + 2n + 2n + 1 M1 Condone one error if there are four terms,
including one in and two in n

4n2 + 4n + 1 A1

4(n2 + n) + 1 or

4n(n + 1) + 1 or

Explains that 4n2 + 4n is a multiple
of 4

Q1 QWC - Strand (ii) - Clear proof with each
step shown and explanation

Q Answer Mark Comments
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Q Answer Mark Comments

9(a)

d

y M1 y × (y – 1) or d × (d – 1)

d

y
×

1
_

1_

d

y
(=

dd

yy
_

_

2

2

)
A1

9(b) 7 × 6 = 42 or

d2
 d = 110 or b2

 b = 42

M1 b(b  1) = 42 or d(d  1) = 110

(d =) 11 Any letters

11

7 A1

Their
11

4
× their

10

3 M1

110

12 A1
oe

55

6

Section B

10 4x + 24 ( x) (= 3x + 24) M1 3x + 3a or (3x +) 24 = (3x +) 3a

3(x + 8) or (a =) 8 A1

Expansion, simplification and
solution

Shows 3x + 24 and (a =) 8

Q1 QWC - Strand (ii) - Logical algebraic steps
to a solution

Allow one arithmetic error.

11 4, 8, 4 B2 B1 For 2 correct

12

5

12 B1 oe fraction or decimal

20

3 B1 oe fraction or decimal

Common denominator with correct
numerators

M1

20

48
()

20

3

Their 2.4 – their 0.15

20

45 A1 oe 2
20

5
, 2

4

1
, 2.25
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Q Answer Mark Comments

13(a) 8x  5x = 5 + 1 M1 5x  8x = –1 – 5

Allow one arithmetic or rearrangement
error

3x = 6 A1 –3x = –6

2 A1 ft ft if M1 awarded

13(b) 5a = 20  b M1

1 correct pair A1 eg, 1, 15

2nd correct pair A1 eg, 2, 10

13(c) 3(7x  2) (+) 4(5x + 8) M1 or multiple

21x  6 (+) 20x +32 M1 or multiple

Allow one expansion or arithmetic error

41x + 26 = 108 A1 or multiple

2 A1 ft ft one expansion or arithmetic error

M2 and equation in the form ax + b = c

14 Completes in 3 moves B3 D into B

B into A

E into C (could be first)

B2 Completes in four moves

D into A, A into B, D into A, E into C

B1 Completes in more than four moves

15(a) [2.8, 2.6] and [0.6, 0.8] B2 B1 For either

SC1 [2.9, –2.8] and [0.8, 0.9] or

[–2.4, –2.3] and [0.3, 0.4]

15(b) ± [2.6, 2.8] or ± [1.6, 1.8] M1 Vertical lines drawn down from the curve
at y = 3 and y = 7

± [0.8, 1.2] A1 Not from incorrect working
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Q Answer Mark Comments

16 4x + 4t (= 9t + 2) M1

4x = 9t – 4t + 2 M1 oe

x + t =
4

29 t

x =
4

25 t A1 oe

x =
4

29 t
 t

17 G 
H

1 , G =
H

k M1 oe GH = k

8 =
7

k M1 8 × 7 = k

G =
H

56 A1 Allow k = 56 if G =
H

k
seen

18 p(p + 3) and (p + 1)(p + 2)

p2 + 3p and p2 + 2p + p + 2

(= p2 + 3p + 2)

p2 + 3p + 2 (=) p2 + 3p + 2

B3 p(p + 3) + 2 = p2 + 3p + 2

= (p + 1)(p + 2)

= qr

B2 For first two stages only

B1 For first stage only

19 ( 12 )
2
 ( 3 )

2 M1 144 (+ 3 12  3 12 )  9 oe

Changes 12 to 2 3

9 A1

( 2 )
2 + 2 2 8 + ( 8 )

2

(= 2 + 2 16 + 8)

M1 oe

Changes 8 to 2 2

18 A1

2

1 A1




